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Questions

1.
A boy ties a string to the stalk of an apple, and whirls it 

round in a circle, faster and faster. The stalk breaks. 

Explain carefully (a) why this happens and (b) what 
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happens next.

2.
The diagram shows an athlete about to ‘throw the 

hammer’.

The athlete spins the heavy ball in a circle, before 

releasing it.

a)
In which direction A, B, C, D is the force acting 


on the ball?

b)
What is the name of this force?

c)
When the athlete lets go, in which direction 


A, B, C, D does the ball travel?

3.
What provides the centripetal force on each of the 

following objects :

a)
The Earth orbiting the Sun.

b)
The Moon orbiting the Earth.

c)
A car going round a circular race-track.

d)
The icy rocks in the rings round Saturn.
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e)
The clothes in a spin-dryer.

f)
The rim of a bicycle wheel.

4.
The diagram shows a cyclist riding round a bend in the 

road :

a)
In which direction P, Q, R, S does the centripetal 
force act?

b)
What is providing the centripetal force?

c)
What may happen if the road is icy?

d)
If the cyclist travels faster, does the centripetal force 


need to be larger or smaller?

5.
A car travels round a corner. 

Is more or less centripetal force needed if:

a)
the car travels slower?

b)
the car has more passengers?

c)
the car goes round a tighter corner?

6.
The diagram shows an asteroid travelling near a large 

planet :

a)
What is providing the centripetal force on the 


asteroid? (See also page 157).

b)
Where is the force largest, at 1, 2, or 3?

c)
In which direction does the force act?

7.
Explain carefully how it is possible for a car to change 


its velocity (and accelerate) without changing its speed.

Circular motion 
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